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This question booklet is divided into
Section-A and

{wo sections

Section-B.

In Section-A, there are

100 objective type questions, out of
which any 50 questions are to be
answered ( each carrying 1 mark).
First 50 answers will be evaluated
by the computer in case more than
50 questions are answered. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do -not use
whitener / liquid / blade / nail
etc. on OMR-sheet, otherwise the
result will be treated invalid.

In Section-B, there are 30 short
answer type questions, out of
which any 15 questions are to be
answered (each carrying 2 marks).
Apart from these, there are 8 long
answer type questions, out of
which any 4 queéﬁons are to be
answered (each carrying § marks).

Use of any electronic appliances is
strictly prohibited.
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WU - 3 / SECTION -
TS 0¥ / Objective Type Questions _
oI qEar 1#xoow%m$wwmwﬁvw?ﬁaﬁ#mw##:

o=t 50wt & 3¢ §1 oA gTT g Ty wEt A F OMR iz ¥ fafgere
I 50 x1 =50

Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark yaw'- selected option on the

OMR sheet. 50x1=50
Mﬁvmmﬂw xy[_dz_g]-a-x[dy) y—--—O'GﬁT?ﬁlﬁaﬂImﬂi
dx dx |
(A) =2 9@= (B) a»’d‘z‘ 2, °Td = 2
(C) iR =1,91d=2 '(D]- Hife = 1,90 = ]

The order and degree of the differential equation
d’y dy dy
xy(de+x[de “Y3x =0 is
A~ order=2,degree=1 (B) order = 2, degree = 2
(C) order=1,degree=2 (D) order =1, degree = 1

2. aﬁmmﬂaﬂw +2y smxmmw%

@ & B &
© e D) e™
The integrating factor 61‘ the differential equation % +2y=sinx is
(Aj et (B) 3%
(©) e2x ' -(D) X
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a)  efrel=c (B) e+e’=c

c) e +el=c (D) e*+e¥=c

dy X+Y ig

_-—-=e

" The solution of the differential equation - ¢

a) e‘+eV=c B) e +e’=c

€ e*+e¥=c . (D) e*+e¥=c

X

 aTaehel TR %=Eiﬁrﬁﬁ%

(A) y=log|x|+c B) y=cx

(C) Ly:xlog|x|+cx (D) y=log| x|+ cx

The solution of differential equation ﬂ!—j--—*—!l"- is
dx x
(A) y=log|x|+c (B) y=cx
(C) y:xlog}'x|+cx (D) y=log | x| + ex

ITahel GHIRT %wy:e?”x H1 GHIHA TUTh 2

(a) e~ o B) e**

€ D) ™

The integrating factor of the differential equation gﬁ
X

C) e* (D) e**

(121/327 ]

3x ;
+2y=e”" is
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10.

W

(47 +37 +3K) . (614 +k)=
(A) 22 15
) 21 (D) 18
(7437 22Kk)x (- i +3Kk) =
-+ - - - - -
(A} 9i-j+3k B) 9i+j -3k
€ i-J+3k D) i+ -3k
i -k |=
w3 B) 3
C) V2 : . (D) 2
j7=
A) O JBTT 1
() -1 (D) x
Kxj =
A -7 B
© o O) k
-1 1) _
=t'{g) -
2
& = B 3
© £ D)
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-1
12. xe|-1, l}cos X=

n -1
—-colt X
(A) 2

(C) %-— tan”' x

n

B 5- sin”' x

(D) -,—----sv::c"l x

13. xe|-1, 1|,3in_I (-x)=

(A) -sin”'x
(C) ~cos ' x
14. /coscc"'x= ............ :

(A) sin”'x

(C) cos™! x

y tan| tan"‘% + tan™
o
c 2

16. sin[cot_lxlz

(A) 1+ x?

€ (1+x2)3/?

(D) cos'l-}?
1 —
3"
(B)
(D) 3
B) «x
1
(D)
1+J¢:2
Sn
(B) e
T
(D) 3

(121/327 ]
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18.

19.

20.

[ 121/327]

21

a) O (B) 3
- | |
€ 3 D) =

tan ' V3 —sec”! (-2) =

T T
(A) -3 (B) 3
© 2 D) =

3 . |
um e f6 89518 N § R={(a,b):a=b-2,b>6) NI ¥ed T R 2
frafafaa §. adt 3w 2
(A) (6,8)eR  (B) (24)eR
(C). (3,8)eR (D) (8, 7)eR
Let R be the relation in the set N given by R={(a,b):a=b-2,b>6}.

The correct answer in the following is

(A) (6, 8)eR (B) (2, 4)eR
(C) (3, 8)eR (D) (8,7)eR
21. T T W@ & fF U 1, m, n' 3tk I, m, n, & @ TH- zgﬁqxam
gt afe
I _m_n ‘ [l .m_ n_
A = m Ty B e

(C) 1? +m?+n? -I +m2+n (D} 1l +mml'+nn =0

'I‘he direction ratios of two straight lines are l, m, n and ! ml, n,.

__ The lines will be perpendicular to each other if

l m n 1 m . n
A - T = — — — —
(A) 1 (B) ) + 1+”1 0

(C) 12+1'112~4-r12==112 +m?+n? (D) I, +mm; +nn =0
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22.

23.

24.
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aajmm,a,s%aﬁ@zﬁﬁzf"mﬁ
1 1 1 (B) ._-1—-,-—:-3-—,"'5"
W 35373 735’ J35 ' 35
s 3 1 D) = & @IE TR
I A R (D)

The direction ratios of a straight

frdt wee T & F

line are 1, 3, 5. Then its direction

cosines are

N 53t R
9’3’5 J35 J35 35
5 3 1
C , ) D none of these
© s 73 Tn (D)

TR 3x-5Sy+4dz=11 % THR a1 H THET R

(A) 3x-5y+4z=21 (B) 3x+5y+4z=25

(C) 3x+5y+4z=35 (D) ¥ 4 BT

The cquation of the plane parallel to the plane 3x- Sy+4z=111s
(A) 3x-5y+4z=21 (B) 3x+5y+4z=25

(C) Ax +5y+4z=35 (D) none of these

aetl -2x+y—~22=5 3R 3x-6y-22z=7 F & %1 B R

A X x -2yl
(A) 3 ® 7 )

(o) ¥
(C) cos™'(4/21) (D) cos™'(16/61)

The angle between two planes 2x+y-2z=5 and 3x-6y-2z="7is

T
w Z B 7
(C) cos'(4/21) (D) cos”(16/61)
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25,

26.

27.

| 121/327 )
frg (2, 1,-1) B8 x-2y+4z=9 H gl 2

13 13421
(A) 1 (B) M
o % D) T A

The distance of ithe plane x-2y+4z=9 (rom the point

N

(2,1,-1)is.

13 13421

21 :
(C) 13 (D) none of these

Ife e 2x -4y +3z=5 I X+2y+iaz=12 TEREE A A =

(A) -2 B 2

€ 3 (D) ¥ & I3 T8I

If two ‘planes 2x-4y+3z=5 and x+2y+Az=12 are mutually

perpendicular to each other then A =

(A) -2 B) 2
(C} 3 (D)  none of these
x-3_Y-4_2-5 x_Y_z ° S
gfe @ —2=2 ~ , @ _s_z%mém
(A) Sa+3b+2c=0 (B %:%:% |
(C) 5a=3b=2c (D) T ¥ T &
o x-3_Yy-4_z-5 . A X_Y_ 2z
If the line T o p e s parallel to the line 55375 then
(A) 5a+3b+2c=0 (B) g%_%
(C) Sa=3b=2c (D) none of these
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%.
x=-x, Yy—-Y _Z-% z+d=0
28. R Y@ _==p—=—¢

1 1

, T a,x+by+C;

& al

a1 b; cl (B) alx +bly+clz=0

A 255, 7%, |
i & I8 T

2

C) aa, +b.1b2 +¢,c, =0 (D)

X=X _Y~Y_Z72% s parallel to the plane

If the line

4 b, !
a,x+by+c,z+d=0, then
/(A) g‘—=%=§1— . (B) ax+by+cz=0
2 Y2 ¢

(C) aa,+bb,+cc,=0 (D) none of these

20\ 3R 21_1° “ s’l A x W R
18 x 18 6

M) 6 - (B) 6

C) -6 (D) O

If x 2 = 6 2 then x is equal to

18 x 18

(A) © | | (B) 6

) -6 . (D) O
30. [J1-sin2x dx=

(A) sinx+cosx+c¢ (B) sinx—-cos x+c¢

(C) cosx-sinx+c (D) tanx-cotx+c
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X x+1
31. =
x-1 X
J7. | (B) 0
Cc) 2 (D) -1
32, uR+EHETMa*b=2a+b AuRNAD A (243) %4
(A) 30 (B) 20
If the operation * is defined as a* b=2a + b, then (2 * 3 ) * 4 is
() 30 | (B) 20
(C) 18 . (D) 15
1 -2
133,712 1 -3|=
5 4 -9
(A) 2 B) 1
0 | D) -1
3 -4 5
34, |1 1 -2|=
2 3 1|
a 0 _Br” 46
(C) -46 (D) 1
- 6
B9 7 3]= |
25 30] 25 30]
A |35 8| B |32 40|
(5 6] 25 30]
© |35 40, B) 25 a0]
36. f:A—sB JT=0EH S BN fe
(A)  f(A)cB (B) f(A)=B
© f(A)oB D) T A B A

24 /A /) X11-5001-(40/40 Page 11 / 32




37.

40.

f: A— B will be an onto function, if

(&) f(A)CB (B)
(C) * flA)DB (D)
A=[aﬁ]manmaﬁa:na§5%z@
(A) m=n (B)
(C) m>n (D)
A=la;],, isa square matrix if
(A) m=n (B)
m=n (D)
M [1 6 -4]-=
-3 -18 12]
5 30 -20 (B)
| 2 12 -8
5 30 -20]
€ |[-3 -18 12 (D)
2 12 -8] 2
g 8]
w98 B)
0 5
e 5 o] (D)
afg A= [_:;’ :| ar adjoint A =
J‘“l/ 23 (B)
© |23 (D)

f(A)=B

None of these

m<n

i @ BIE T

m<n

none of these

G =

2
K

[121/327 ]
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If A= [_? "g] then 'adjm'nt A=
> 2 3

(A) [% 3] . (B) 1 5]

132 2 1].
(©) [2 sJ | o) |2 3] |

41, dh y:éx2+35inx *F x=0 Wwwiﬁw%

@ 3 ® -1

1
© 3 (D) -3

The slope of the tangent to the curve y =2x°+3sinx at x=01is
. ' 1
A 3 | B -3

© % - o -3

r¥-42_/'q$gﬁ.'éﬁlﬁ'@mr=6cmmr%ﬂ'ﬁ&?ﬁmﬁmiﬁa

(ch/cmff)%’
&) 10n | B 12m
€ 8n D) llm

The rate of change of the area of a circle with respect to its radius

r (in cm? /cm) at r= 6 cm is

(A) 10=m B), 12w

C) 8r @ 1=

Page 13 / 32
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a3, uft uzan A o pEEs €@ |

(A} P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=
(D) P(ANB)=P(A)+P(B)
If cvents A and B are independent then
(A) P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0
(D)  P(ANB)=P(A)+P(B)
. 44./§2ﬁﬁmﬁ@n@ﬁﬁmﬁmﬁm%

1 L
A 13 B 13
1
© =5 LI
The p;pbﬁbiiity of drawing a king from a pack of 52 cards is
~

4 )

M 13 3
S

45.  P(A)=3 P(B]--—- P(AﬂB]A—: P(B/A)=

1
4

(.nl,__,

(A) (B)

nl— N
s »jw

(C) (D)
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w firds 10 R IBTE ST B1 S B: Rya 31 B et @

46.
10~ (1Y 10~ (1Y
@ e(3) @ CG(3)
8
10~ (1 . 10 11\'°
@ '°c(3) ) - 1°c,(3)
A coin is tossed 10 times. The probability of getting exactly six
heads is
0o (1Y’ 0. (1Y
@  1°C(3 B °c(3)
10 .1_\8 10~ (1)°
(€C) Ce (2 ) | (D) Cs (5)
47.  P(A)=L, P(B)=13, P(AUB)=17 = P(ANB)=
| a2 5
A) 137 | (B) 17
Z 9
48. xy-ae1 1 AR 7
A)  x=0 B) y=0
€ z=0 ° (D) ¥ & HI3 T
The equation of the xy-plane is |
A) x=0 : (B) y=0
(C) =z=0 (D) none of these
49. z-3g & REm-wrnd 3
@ (1,0,1) (B) (0,0,1)
C (0,1,0) (D) (0,0,0)
The direction cosines of z-axis are
@) .(1,0,1) @ (0,0,1)
€ (0,1,0) (D) (0,0,0)
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50.

ol.

53.

54.

D

[121/32?|

ﬁ%ﬁ(4,3,7]3ﬂ1[1,-1,_5]$3ﬂa@@%

(A) 13
() 12
The distance between the
(A) 13

(cy 12

X
4£) Liant X 4c
. a a

Isecxdx =

(&) log|secx+tanx|+c
(C) logsecx +c .

j'SCCS x tanxdx =

(A) Stan” x + ¢

(C) Slog|cosx |+¢c
:"/tan:’:xdx =
(A) tanx+x+c

(C) cotx+x+c¢

J‘ cos2x dx =

2 .2
cOos X .S Xx

(A) cotx-tanx+c

#) —cotx-tanx+c

(B)
(D)

points ( 4, 3, 7 ) and

(B)
(D)

(B)

(D)

(B)

(D)

(D)

(D)

(B)
(D)

15
5 .
(1,~1,-5)is
15
)
-1 X
= +cC
tan a

X 1::;1er1 X 4T
a

log | sec x—-tanx|+ ¢

tan” x + €

Loec® x +c

S

tan5 xX+c

tanx—-x+c

cotx—-x+c

tanx-cotx+c

~tanx+c

24 /A /XI1-5001-40/40)
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+1
56. - dx =
T xT+1
x“‘
(A) 3 +c

(C) 2tan”™! x ¢

1-cos2x _
84 1+cos2x dx =

(A) tanx+c¢
(€] tanx-Xx+c
rodx _
38 2-3x
(A) —3log|2-3x|+c
(C) -log| 2-3x| +c
59" x>dx _
1+ x5
(A) tan~! x* +c¢
Ly -}Ttan_l x* +e
x —
60. _[xe dx = o o i
(A) e +c
f€) elx-1)+c

61. %'log(s'ec x+tan x) =

1
sec+tanx

(A)
(C) tanx

- -1
62. ——( sec 1x+c'::;sec X} =
EA(/, }

A 1

C) 2

(D)

(B)
(D)

(BY

(D)

(B)
(D)

B)
(D)

(Be

(D)

(B
(D)

3
X
3
3
%——+x+2tan‘lx+c

- x+2tarfl xX+C

tanx+x+c
—tanx+x+cC

h%kg|2—3x|+é

-1
2tan Jc4 +c

4tan”' x* +c

-1 4
Ztanlx +cC

x-14+c¢

ef(x+1)+c

S€C X

secx+tan x

0
-1

(121/327 ]
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64.

»

sinx
A 1 ® -1
’ 1
1 ——
Ifl1-cosx Y _
= t -5 ..
If y=tan ( Sin X ] hen d
(A) 1 B) -1
1
© 3 D) -3
e x = asec®, y=btan 6 a9 gi*
(A) Esece (BY "gcosccﬁ
© 2coto ‘ (D) %
_ dy _
If x=asec®, y=btan 6 then —==
_ dx
(A) é—sec 0 (B) Qcoscc 0
a a
b b
(C) - cot B (D) o
_ [ : . o A dy _
e y J31nx+J51nx+Jsmx+ .HEE 1=
sin x COS X
S (|) o=
C COsS Xx D 1
(C) 2y-1 (D) 351
If y= Jsmx+Jsmx+Jsmx+ .toes then —Z dy
A sin x B COS x
& S (B) Sosx
C COS X 1
© 5 I

24 /A /X11-5001-(40/20)
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' d’y _
66. AR G=x> M i
A x (B)
oy " 380x'® (D)
d2y
If y=x"° th =
y X €n de
A  x'® (B)
(C)_,zﬁox”3 (D)
/67° . z_f;['l-t»coszx dx =
(A) V2 cosx+c _B)
() -iéajh (D)
(68. xxdx=
&y I%(logx]ﬂ +c (B)
(C) i%~+c (D) .
69. rf?ﬁdxs
X
& 2sindx+c (B)
(C) cosVx +c (D)
70. IJcos:g  Sinxdx=
W Zeoswec B
€) (cosx)*’?+ec (D)

20x!°
19

20x!°
19

.5' sinx+c

ﬁsin%+ c

—%(logx)zﬂz

—-%+c
x

sindYx + ¢

2cos./3c-+c

—%—(c-::vsx):”"2 +C

—~(cos x]:”z +C

(1217327 |
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,
) by
]
L B 2 _LJ
5 12 6 12
- 8
4 B 4 ]
(C) 6 12] (D) [-6 12
If A= hg ‘g] then A™'=
1 1 1 'Els'
3 B 4
w797 LI
6 12 12
a i1 8
o fs 4 o [
7/:}/ #ﬁA:[_g ﬁ‘ Ji'ttnn[:;; 21 MEA-5H8=
(17 4] 17 -4
A |s sa '3 54
(-17 -4 [ 17 -4
/‘Qr |-55 -0 (D) |-55 ..54]
IfAﬂ[_g g] and B=[g g] then6A-50=
-17 4 Pl? -4
A s 54] B 1's 54]
(~17 -4 [ 17 —4
© [-ss '6] D) |-ss -54]

[ 1217325

24 /A/X11-5001-(40/40,
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73. “ﬁ/‘é{g :/z .%]f"‘“’:
- 5

= Jg -3} Jg 3
(A) 2 2 2 =2
| 0 2/5 f” { 0 2/5}
i 3 2
C -2 2 3 -2 2/5}
” -2/5 o] o) [2 2. 0
2 J2 0 ;
If A= 3 _o 2 | then A’ =
5
2 -3 0 3
@A) |2 2} B) |J2 -2
| 0 2/5 0 2/5
i} a 3 _
. _ 3 -2 2/5
(C) ‘:__2/2 V2 (D) [2 7 0]

14} AR 2A+B+X=0, & A=['31 ,ﬂ 3R B=ﬁ -g]a X =

(A]- ——71’ —13: (B) [% 123]

e

(-1 =2 -1 =2

€ |27 -13] () [7 13]

If 2A+B+X=0, where A=[_é 2] gnd B=ﬁ "g] then X =
1 2 12

(A) _7 _13] (B) 7 13}

-

© [Z7 ) o [ 3]

-

24 /A /XI11-5001-(40/40) Page 21 / 32



J- 9
75, [ x yl=12x"1
(A) x=3, YY" 9
© x=0Yy=%
176 /d—’(sinz x)=
) dx
(A) 2sinXx
(C) cos2x
d 5 =
77. dx‘x +cos2x )=
(A) 5x* + sin2x
(C) 5x* - 2sin2x
d -1 _
78. dx( sec  x) =
1
(A)
1--1:::2
1
(C)
1+x2
d Xy _
79. 4¢la )
(A) a“loga
() a’
(A} tan x
(C) cotx

|-._->
(B)
(D)

By

(D)

(B)

(D)

(B)

(D)

(B)

(D)

ABY
(D)

x=-1y=9?
x’SIy-4

sin2x

2Cc0sS X

x> + 2sin2x

a* log x

loga

— tan x

- cot x

24 /A /XI11-5001-(40740)
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81,/

82.

[.83.

84.

85.

I(.r-c-cos?.\:)dx =

1 1

(A) Exsin2x+zc052x+c (B)
(C) 2xsin2x+4c052x+c)]3]/

Ie” {sin"i X 4l

}dx:
2

x 1
(A) e — +c J,Bj’

ex
€ Sze (D)
¥ dx _ _
x(x+2)

X

®)  logl 5w e B
(C) log|x !+ c (D)
_N a?-x? dx =
(A) % a’ - x%dx

a’ . -1x
(B) 5 sin -E+c

2

(C) XyJa? - x? + 2 sin7' X4c

2 2 a

2

xf2 2 _a . -1X
(D) 5 i -a 5 Sin a+c
/
]iin“'xdx:
-n/2
Ay -1
c 1 (D)

[121/327 |

%xsian—-%-cos?x-%c

2 .
X, sin2x +

7 t— g ¢

e“.sin" x+c¢

eX. cos'x+e¢

X
x+2

1
-2-log| | + ¢

log| x+2 |+ ¢

/(Bj’ 0

2

24 /A/X11-5001 -(40/40)
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Jx+Ja-x

(A) a

(C) 2a

n/

87. ]}(:os2x dx =

0

M0

< -1

n/6

88. Icosx.cos?xdx=
c

(A) S/6
(C) -5/12
rd
89, j'tanxdx =
(A) -1
(C) 2
21
a0. ‘J;ﬁ dx =
Ay 2
(C) =74
91 Ax(b+c)+bx(

(A) 1
< -1

- = -3

92. i .(jxk)=
W 1

(cy -1

B) 5
(D) 3a
By 1

(D) 2

B) 1/6

(D) -5/12

/03;/0

(D) -2
(B) =n/6
(D) =w/2

N
c+a )+cx(a+b) =

(B) O
D) 3
B) ©
D 7

24 /A/XI1-5001-(40/40) |




J: [121/327])

> = -’g 2.7 ok
t+J + i+ j +2
(A) J
- = _ - 2 o
(C) 1+ +2k D i+j +k
6 (D) 3
_If a=1i+j+ 2k then the corresponding unit vector a in the

direction of a is

2 = 'k':’ -5 - ;C-}
S

(A) t+J + B i+j+

- = .
©) L+ j +2k (D) ?4—? +E

6 6
- = .
94, %ﬁsi+j-2¥3ﬂt?+l?-szmam€r'cﬁx=

(A) -3 B) -6
() -9 D -1

- = — - - —
If 3i+j -2k and i+Aj -3k are perpendicular to each other
then the value of A =

(A) -3, (B) -6
Ly -9 | D) -1
95. [cot®xdx =
(A) TCotx+x +k (B) -cotx+x +k
W ~cot x-x +k (D) cotx-x+k
. - - -
96, Wiewi 21-3]+2k IR i+4)+5k P 6= H B R
(A) 30° (B) 90°
(C) 45° (D) 60°
_ B T S
The angle between the vectors 21 -3 j+2k and 1 +4 j+35k 1s
(A) 30° - ~B)]  90°
(C) 45° (D) 60°
24 /A [XI1-5001-40/40) Page 25 / 32




99.

100.

A) 9 B) 19/9
(C) 9/19 (D) 19

- —_) -3 --;- - ’
The projection of the vector i -2 +k on the vector 41 -4,

is
a) 9 B 19/9

(© 9/19 D) 19
Z=3x+5y 1 <7 qF W&l fF @Y x +y £ 2, x20,y20 ?

(A) 16 (B) 15

) O (D) T | wIE &

The minimum value of Z=3x+5y subject to the constraints
where x +y <2, x20,y=20 is

(A) 16 (B) .15

(C) O : - (D) none of these

Z = 3x + 2y F1 Afrwan 9 Fel 6 =TT 3x+y< 15, x20, y20 ¢
a) 30 B) 15 |

© 10 (D) A W

The maximum value of Z = 3x + QQ subject to the constraints wh
3x+y<15, x20, y=>0 is '

A) 30 B) 15

(C) 10 (D) none of these

e
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, @US - 9 / SECTION - B
Y I UF / Short Answer Type Questions
gy 6T 1#3033:‘@33??#3}:37&#%3? 155yt & Fav &1 qAE T

# ferw 2 9% frerifeer &1 15x2=30
Question Nos. 1 to 30 are Short Answer Type Answer any 15 questions.
Each question carries 2 marks. _ 15x2 =30
1. AW x29Y_ : |

" dx Y - | ?

y . .2dy.
SO]VC - X E%:zxy

"t

;1
4 WP (@ b c | WA TE R 2
a> b° 3 '

1 1

1
Evaluate the determinant |a b ¢ |.
b

3 3

a C

¥ ?ﬁA:{—% _é _f{],?ﬁ‘ﬁmﬁ% AZ=A. 2
] -2.-3| - |

: 2 -2 -4 )
If A=|-1 3 4|[,showthat A =A.
1 -2 -3

T g, Afe y:siﬁ(xy) Gl -g-% et | 9

/ d
If y=sin(xy) then find a%-

/Wﬁﬁ:j(xmﬁdx. 2

Integrate : _[(x+2}2 dx.

| 2
6. P(AUB) T AR 2P(A)=P(B)=:3 3 P(A/B)=§%. 2
2
Evaluate P(AUB) if QP(A}-.:P(B]:% and P(A/B)=%.
24 /A /XI11-5001 -40/40) Page 27 / 32




7.

[ 121/327)

Find the distance between the planes

Gx-6y+62z=2.

o wfdrerar @A & foiT wen e &K ' 2
x 0 1 2 3 ol
B p. *1/8 . 3/8 3/8 1/8 __-‘
Find the mean for the following probability distribution : > ﬁj:
x; 0 1 2 !
P, /8 378 3/8 Al
- .
8. W as=i-j+k b= 2i+] +3k A | g+ b [WATTR
2
If Z: ?--:; +}}+ and Bz 2? :,' 3k then find the value of
- -
| a+b |
- - o
Y W 3i-4j +12k B Rg-Hremd FEEl 2
Find the direction cosines of the vector -31 -4 j +12k.
A0, TR y=xdinx g %%ﬁm@h 2
If y=x%"%, find d_y
X
A2 dx ;
11, —CX__ &1 aH P 2
g 1++/tanx
A2 dx
Find ti lue of —_—
n IlC Va | i I+ o
a -
12. 11/.:;12-;‘:2 dx 1 AW fAehTed | 9
C "
a
Fin}bhe value of IJa.Q ~x? dx.
S AN -
137 ael x-2y+22=6 3 3x-6y+62=2 F ¥ gt 7 = 2

x—-2y+2z=6 and

24 /A /XI11-5001-(40/40)
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14, T whew Py, y o 2 e TS F
2,33 - 4§ 2

Find the equation of the plane whose intercepts on thc axes of

Y, Z are respectively 2, 3 and - 4. 1
4_y+9_z-1
}/wmmﬁﬁ@mx 1_y-2_2+17 5ip 2= =4 2

3 p 2
. TR o gl 9
i R - -2 z+17
Find the value of p so that the lines x2 =Y 3 - p and
X+4_y+9_2z-1 , |
2 2 - 5 are mutually perpendicular.’
16.  [cos® x.sinxdx 1 AR F| 2
Integrate _[coss x.sinxdx.
x2—1
17.  [5= dx & qumer w 2
x“+4 .
lntegrate I dx.
x°+4 |
18. &AW : d X+y : 2
Solve %—E= |
}//aﬁ xcosy=sin(x+y) ?ﬁ y | ‘2
If xcosy=sin(x+y), find d—i
20 tan-!—2X_ @ sin” 2% & WNY IFaHA B | 2
T 1- x* 1+x2
-1 2x . . -1 2x
i i t with respect to sin .
Differentiate tan l-xg _ "
’ 2 o dy
21. aﬁ xX= 1+t2 » Y= 1-t ﬁ a ﬁﬂ'ﬂﬁ‘ _ . 2

f 2 dy
If x=y1+t°, y=41-t"-then find R
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03.
24,

25.

26.

27.

28.

20.

30.

[ 121/327)
fog 3 gof TR BT AR £(x)=8x> 7uT glx)=x"" gl 2

Find fog and gofif- f (x)=8x> and g(x) =x/3.

AR 5T+3] +4Kk 3 67-87 & & o 1 0T T R 5

Find the angle between the vectors 5i +3j +4k and 61-3J -k,

]

SRTF R Z=20x+3y , Faf% 3x+2y<210, x20, y=0. 2

Maximize Z=20x+3y, subject to 3x+2y<210, x20, y20.

A/2 : - |
Ixcosxdx EaRICRECa | 2
0

Al2
Find the value of Ixcosxdx.
- 0

jsin3xdx T HHTHT i 2

Integrate _[sin3 xdx.

| - 1 G B 2

Jx+1+fx+2

dx

t t —— —_— .
Inegraejm+m |
fog =t f 4(&::0’('1 I.’»-i-_t;cslf1 2)=m. 2
Prove that 4(cot™' 3+cot™12) =n. -
frg #t % tan!x+tan™ y=t.':3.r1_1 l—x_+—xyy- 2
Prove that tan™' x+tan™ y= tan™ T%ya' .

d . :

AR y=y §in 2 A )

Find g—i’- if‘y:J sinx” .
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a&mm / Long Answer Type Questions
mmalﬁssﬂ'ﬁﬁﬂﬂm%lgﬂﬁﬁﬁﬁﬁ4m$ﬁ7%lm$

faw 5 3w faife ¥ 4x5=20
Question Nos. 31 to 38 are Long Answer Type questions. Answer any
4 questions. Each questwn carries 5 marks. 4x5=20
31. mﬁ%mn 4,15 116 _m 5
TSN qgtsing5=3-
Prove that sin li 1.9 -116 _1
_ g +sin” 13+sm TRk
A |
32. WM FHH : Ilogcosx dx. | | S
5
n/2

Evaluate : Ilogco'sx dx.
33. R : (1+x?) Pry=tan x. -5
Solve : (1+x2)d—+y=tan'lx.

34, iz e, 99 (siny)” —(cosx)y . I | S

Find %, when (siny]x=(cosx]y.

l+a 1 1
35, GAREmHAFT@H | 1 1+b 1 | 5
| 1 1l+c¢ '
_ l+a 1 1
Evaluate the determinant | 1 1+b 1
1 1 l+c

- -+' -3 - -5 =
36. m:rsna-qﬁ;[i-aj+4k).[(2f-j)x(j+k1].

- - - - - - =
Evaluate: (i =3 j +4k).[(21—j}x(j+k]:l.

24 /A /XI11-5001-40/40) ' Page 31 / 32



J
37.

38.

. | [ 121/327 ]
Wﬁz:Qx-yy
Safk Sx+10y <50, x+y21,y<4, x20,y>0. 5
Minimize Z=2x+Yy,

subject to Sx+10y <50 , x+yz21,y< 4, x> 0,y=0.

2 urdl ) =GR a1 Gt § H9 § HY Q 91 T F 3Tk h1 A9l FH ;|
TIREhdT B ? | | 5

In four throws, with a pair of dice what is the probability of

occurrence of doublets twice at least ?






